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Q1)- {8 Marks) v
The waveform of a parallel AC circuit 6A.
are shown in the figure. sV
a)- Write the mathematical cxpressions i .

for v(t) and i(1).
b)- Determine the average power (P,y) and Pf.
¢)- Determine the type and value of
the clement or elements .

Q2)- {8 Marks) 12Z0.A
For the circuit shown in the figure. &)
Z1=2+12 , 22=212 , Z3=3-14 ' N
Determine the value of Zy for PR—

maximum power to the Load, and Zz1
find Py

+

GOQV?

B

1

Q3)- Complete {6 Marks)

If i(t)= 10 sin (2r60t), then the frequency is ..o, ~Hz, the average value is

ythe effective value is ......cee.... and the magnitude of the waveform at t=10 ms is ........

Q4)- {8 Marks} St
AC Series circuit shown in the fig, ‘ ’\g' ﬁ:il;(

and the circuit has 0.707 Lagging Pf

a)- Determinc R and the unknown  single element. +
b)-Draw phasor diagram.
¢)-Draw impedance diagram. A

d)-Find Pyy. ¥ B=56 56 AOV 0 ~40V
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